Rl =322 pra~ 8
101 & & BAg 2 7042 4 4 3%
}j:%’}r I %Eji%“,{;ﬁ;i Hir

Ay OO0 (2w

\m

FEB)

c<

1 feEcE

W X 27 0% 1 E

Rota ARAEE 5 A FAT 20 A £ 1004 -
b. (€% FF7 2 448 -
C.HAFETHHERE RS LT AREA -

FREEL R P B354 A G AR CERS AR F L o IR

BRFARL G BT

s AR A

R

d%“‘:'}im

FoB B AW efE ?

+2—-3u

e BiR(p)hdd B g A 4 R E G q A T A

Fer2 T oy(t) S BeenfE:

d*u du () 0

dt? dt

FoaeiE i u(0)=1;

2 L]
d-T +ld_T+ﬂ =0
dr? rdr Kk
T=T, ¢4 r=R
EARER RN K g =
d—T: 0 ¢4 r=0
dr
(20%)
) _ _, (20%)

dt



%r‘}
DO
™=

3. KT s de2 & 4] E & 3 (Fourier transform) ?

f (X) :{0 (20%)

4, s e B A=(2,4,6)2 B=(1,-3, Dt & ?
(20%)

5. 7 saEst (A) eaF i (Eigen-values) 2 ## i+ € (Eigen-vectors) ?

5 4
Az{ } (20%)



